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NOTE: 1. All questions arc compulsory
1, Figures to the right indicate marks

Q.1 (A) Fill in the Blanks (Any § out of 10) {08)

I. When agreement is reached, we say a g has been taken place

2. In 1990, proposed a model of 4Cs of marketing.
3. differences involve goodwill of the producer, brand name, brand

personality, logo ele
Cadbury's Dairy Milk “Shubh Asrambh" campaign is hosed on the concepis of
positioning by _

aclivity of a marketer

5. Market .r-cgmmraum is the
6. In pricing method, the price is calculated as a percentage of selling

price
7. isaform of customer - oriented promotion techniques
8. refers o all those forces or factors that influences marketing decisions
g,  isthe impression, which one forms about a certain situation or object
rescarch covers studying consumer profile and their buying patiem

Q.1 (B) Match the Following (Any 7 out of 10) (07
1. Situational Factors P a. Five
2 Product Concept b. Usage Rate
3. Societal Concepls e d4p's
4. Psychographic Scgmentation . Perception of Drands in the minds of
customer
5. Market Research T e. Physical Surroundings
6, Behavioural Segmentation : f. Good quality goods
7. Brand Image 7 g. Customer Loyalty
8. Levels of Product . Personality
9. Jerome Me Carthy i. Solves Specific Problem
[Tacrm 5 j. Green Goods
s T d. Systematically
¢ Vertically o
S £ :
9. An Organization is busictlly BIO%P O ———4 ™ ers
a. Society 4. Officers

¢, Persons




L - o 15
Q2. (A). Wiwisu-tw&phhme-nuﬂhuhd-ﬂmﬂ!- o=
oR

ing with
Qlln]mﬁmﬁﬂﬂNWofMde-lqum
reference 1o needs, wants, demanss and transactions with suitable marketing cxamples  (15)

Qs.mmammmw&mmwmm‘m
OR

Q'J-(A}Whutdnymmmbypdcingufmt:ﬁngnﬁ:?Exphﬁnﬂ:ﬁﬂmm
strategies along with a suitable exampies ? (15)

Q5. (A) Exphinmtuwmmhiuiouufmtd segmentation?

(08)
{B)Whmispu&'lim&gmdmmufk? o7
OR
05. (C) Short notes (Attempt any 3 (15)
I. Direet i
2. SociaJMad‘mMntmg‘ with examples
3. T}'pesafllrpﬁng
4. P, i

L
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NOTE: 1. All questions are compulsory
2. Figures to the right m:huhmuh.

Q-1 (A) Write the appropriate answer {Jhlal..
(1) Differentiate of 4x? is '

(2)8x (b) -8x (c)dx (d) none of these
(2) The simple interest on ¥ 15,000 for 8 months at lﬂ% A
(2) 21,500 (b) 21,000 (¢) 21,050 (d) None of these
(3) Find the value ofdetmnumlnlz =2
(@) 6 (b)-6 (c) 9 (d)-9
(1) [ftmnaeuflm is same as the matrix, it is called
(a) Scalar matrix (b) Symmetric matrix (¢) Identity matrix (d) None o
(5) Viix) = | e
(o) fix-h)-0) (b) F)-fix-b) () fxyHCx) (@)
(6) Supplyisa_____ ﬁnu:ﬁﬂnnfpﬂm. Ee
(a) increasing (b) decreasing () constant (d) none of t
(7) The value of 13cs is
(a) 7771 (b) 517 (c) 551 (715 iy, . TR
(8) An anwity and life insuranceare ____
(@) Same (b) different (c) dependent (d) none of these
(9) For the function f(x) = 5x-3, the value ﬂff (%.a,' i
(@) 5 (®)-5(c)-3(d)3 8

(10) The value of Gps is 3 S, - ¢
TR




(1) State whether the following nre True oF False (Any Seven ) Y

(1) The value of 71 = 520.

(2) All square matrices nre dingonal matrices.

(1) Present value Is always greater than maturily amount. .
(4)The point where there is no profit, no loss, it is called Zero point.
() Prineipal amount is also known as present value.

(6) Determinate can be solved for square Matrix only.

(7) The forward difference operator is denoted by 4.

(8) 1f any two rows of a matrix are interchanged, then the va
(9)The sum of two null matrices is a null matrix.

(10YThe derivative of a derivative is called second order derivatives.

lue of the changes is sign only.

Q-2 Attempt either (A), (B) OR (P),(Q)
(A) Mr Thomas invested an amount of € 13,900 divi
the simple interest rate of 14% p.a. and 11% p.a. respectivel

ded in two difference scheme A and 1 at
y. If the total amount of simple

interest carned in 2 years be 2 3,508, what was the amount invested in scheme B? (#)
(1) 1F f(x) = 3x%-2x 4, find x for which f{x) = f(x-1) (N
OR

(I') A person wants {o set up an education account for his child and would like to have T
75000 after 15 years. He get an account that pays 5.6% interest compound half yearly ,and he
would like to deposit money in the account every 6 months. How large must each deposit be

in order to reach his goal? (%)

(Q) A commitice of 5 persons is to be formed from 6 dactors and 5 nurses. Find the total
nummber of ways if committee can be selected of
(i) All doctors (ii) 3 doctors and 2 nurses. (N

03 Attempt cither (A), () OR (P),(Q)
(A) Solve the following system of equation using Cramer's Rule.

Sxt3y-2z=6
Ix+3y-dz=2
Bx+2y-3z=7 (8)

() Ifﬁ-l'l} : i . Be '12 ; _11]

Find (i) AT+ BT (i) (2A - B)" M



(i) Find technology mat
() Solve the following us

"'E -35]

Q-4 Attempt cither (A), (3) OR (P), (G
(A) Differentiate the following wrtx

mmwi m)

interest, oy
bnlmBmkofl-mFCoﬁ'emthnhmﬂ






. A1 guestans are compulsory

\onding 1 the New Industrial : o
N Policy. omly __ industries requive licensing.
—— iee, Survivel, Acathesic, T ﬁ:hﬂr.-t-l-ﬂﬂ -
“._in-—iﬁh-l-

s PO-stress, P-Stress, Eustress)

\cording®o______, people should have social equality along with equal ace=ss 10 2
\acie 12, Asticle 15, Asticle 17, Article 19) ' e
__n:ﬂﬁ“ﬂﬁllicmwilﬂdn
maaton anger, conflict, stress) BaAL
_ﬁ#h““#ﬂlﬂ”ﬂ!ﬁ“ﬂ 25 1
DR, Theology. Magna Cana, Articles) |
isthe slowd, rocky crust covering entire planct
 smosphers, Geosphere, Lithosphere,

(13,30, 28, 25)

mhdm--mﬂui-ﬁmmm_-l__.

mmmmm_ﬂ

m—.mmm:

Mawch 7 7 marks
c_-ﬁl 3 **

1_| Aggression RN A | Actof aggession

> Tty md e C wﬂugi—-&

4 Asthrosphere D M—m

e | et

§ | Viclence F M

8 | Ercsions gy T | Society, Eavironment and Economy _

9 | Values and Ethics _J__Egﬂ_%
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: in Indin, (% marks)
Q.I1.A) Explain the concept of liberalization and some major elements under liberalization

Q.1L B) Write about a few reasons that lead 1o farmer’s sulcide in India. (7 marks)
ORr
Q.11 (C) What is Migration? Explain the causes of Migration along with its impact/efTects (185 marks)
Q.II1 .A) What are human rights? State a few characteristics of Human rights. (8 marks)
Q.I11. B) Explain “Right against Exploitation”, (7 marks)
OR
(15 marks)

Q.III (C) Explain in brief about the different Fundamental rights as per the Constitution of India. .

Q.IV .A) What is Environment Degradation? What are the various forms in which Environment is degraded?

(15 marks)
OR
Q.IV. B) Explain the Components of Environment in brief. (15 marks)
Q.V .A) What is Stress? Elaborate a few measures (0 cope up with stress. (8 marks)
Q.V .B) Write a note on some of the Conflict resolving strategics. (7 marks)
OR
Q.V. C) Write Short Notes on the following (Any 3 out of 5): (15 marks)

1) Causes of Environment Degradation.
2) Sustainable Development

3) Impact of Globalization.

4) Maslow’s Need Hierarchical Theory
5) Conflict and types of Conflict
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Note: 1) All questions are compulsory carrying | marks
.
2) Flgures to the right indicate full mnr:; -

3) Meation relovant case lnws where hecensary

Q1 (A) True or False: (Any 8) o

|, Conciliation officer has an authority to pass an award.

2. Amalgamation of 2 or more trade unions is ible aft
amalgamation, possible after recording 60% of votes in faver of proposal for

3. Ina fuctory there should be at least one first aid box for every 100 workers,

4, Temporary partial disablement reduces the carning capacity of an employee in every employment which
he was capable of undertaking at the time of accident leading to disablement.

$. In ESI Act, an employer's contribution is 3.05%,
6. EDLI is an insurance to give life cover to the employees of organized sector,

1. In Employees Pension Scheme, an employee is not required to contribute separately under the Employees’
Pension Scheme. -

8. Under Payment of Wages Act, maximum fine that can be imposed is 5% of wages payable to an employed
person.

9. The term Gratuity is not defined in Payment of Gratuity Act,

10, Under Bonus Act, the excess amount carried forward in the next year is called as Set-off.

Q.1 (B) Multiple choice questions: (Any 7) (07)

. Precautions against dangerous fumes is an example of under Factories

Act, 1948, (Health Provisions, Safety Provisions, Welfare Provisions, Medical Provisions)

f niral ent, state government
2 Works committee is constituted by _____- (ce | bl g

fppropriate government, employer)

3. Any person who has attained the age of _
union. (13, 18, 21,30)

~____years may be a member of a registered trade



L “?..4-

(unlawful, not unlawful, illegal, separate legal entity)

4. An unregistered trade union is =
or more workers. (100, 200, 1000, 2000) |

5. Safety Officers are cmployed in o factory having
G.HEmmhummmﬁmmpy.uemmmployuh 9% of salary or wage. |
(10, 15, 20, 25)

7. The Standing Committee is the
body, Apex body)

* 8. Maximum amount of Gratuity payable is R ;

9. Excess allocable surplus carried forward to next year is cal
Gratuity)
10. Which of the following is not included under definition of Wages as per Wages Act?

of ESI Corporation. Main body, Important body, Executive

(10 lakh, 15 lakh, 20lakh, 25lakh)
led . (Bonus, Set-On, Set-Off,

( Basic Wage, dearness allowance, incentive, gratuity)

Q.2(A) Explain the concept of Lay-Off in detail. (15)
OR

Q.2(B) What is a trade union? What are the benefits of registering a trade union? (08)

(C) What are the provisions of Labour Court? ; (07)

Q.3(A) Define a factory, What are the objectives of Factories Act? Explain the rules related to

Safety mentioned under Factories Act. (13)
OR

Q.3 (B) Explain the concept of employer’s liability to pay compensation in detail. (15)

Q.4(A) What are the provisions of ESI Corporation under Sections 3, 4 and 5 related to

establishment, constitution and term of ESI Corporation under ESI Act? : (15)

OR
Q.4(B) What are the provisions of Employees Pension Scheme as per Employees pension
Scheme,1995? (15)

Q.5(A) What are the conditions under which an employer can deduct the wages of his employee
in case of fine and damage? (08)
(B) What are the rules related to rate of gratuity and forfeiture of gratuity? (07)

OR
Q.5. Short Notes: (Any 3) (15)

Award

Doctrine of assumed risk
Certifying Surgeon
Contracting & Contracting Out
Set On & Set Off

Bl LA T




Note 1) All questions are compualsory carry
Q.1 (A) Multiple choice questions (Any §)

3 Centralization implies concentration of the authority ut the
T b. Middle

a Top
¢ Lower d. Non of above
4 organization structure is developed spontancously and automatically out of
interactions between persons..
a Formal b. Informal
¢ Matrix d. All of above
5. hﬁﬁhﬁﬁmﬂ#ﬁ&m%hﬁhmhﬂhm
.I. Leader b. Motivator
¢ Head d. Subordinate.
6 hu“wmmmﬂmm”u
¥a. Coordination b Contolling
7. Superior can delegate the to subordinate .
2 Responsibility b Authority
¢ Accountability d. Al of above

8 M-mm-umawmmum
dMthhhmﬂﬂ-hm__.——-!

a. Horizontally b.
¢ Vertically d
9. An Organization is basically group of .
a  Society b. Workers
¢. Persons d. Officers



